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Note: 1. Question | is compulsory

Time: 3 Hours

2. Answer any three out of remaining questions.

Q1 A) What is dimensional modelling? Design the data warehbuse-for wholesale_ﬁimlture [1 O]
Company. The data warehouse has to allow analysmg’lhe\ company s situation e
least with respect to the Furniture, Customer and~ Tlﬁm More ‘ever, the:company -~ -
needs to analyse: The furniture with respect to its type eqtégety and: matenaI The -
customers with respect to their spatial Ioca‘rlon, by“conmdemlg at Least cities;,
regions and states, The company is interested m learnmg the. quannty, _mcome and
discount of its sales. w0 \,1 ST e +

B) Discuss different steps involved in Datfe;l’r\e—prgcessllng\ n L] 0} :

Q2 A) The college wants to record the Marks for the courses completed by students usmg [10]
the dimensions: i) Course, ii) Student, 111) Time & a‘measure Aggregate marks.
Create a Cube and describe following OLAP operatmns '
(1) Slice (ii) Dice (iii) Roll up (iv) Drlll down (v). Pivot’

B) Apply the Naive Bayes classifier. alge({thm for. buys: computer clamﬁcatton and  [10]
classify the tuple X= (age— yeung ,mcome— medlum” student” ‘yes” and
credit- ratmg*"falr 50 S .

S,

Id Age - Iﬁ“ebfne. Studgnt Credlt-ratmg _B,uys computer

1 young | high no< o o |fair AE: no

2 |young |high  mo . . |good: - i[no

3 |middle” hlgh "no“"\\ faer S yes

4 fold  |medium {no - - fair -~ yes

15 old — How yes - (fair yes

6 old low yes good no

17 middle |low yes good yes

48 young |medium |no: fair no

9 - |young |low yes | fair yes

g |10 old medium |yes fair yes

i P yeuug_ “Imedium | yes good yes

12 middle |medium |no good yes

13 middle |high yes fair yes

"1_4_ old = |medium |no good no
. QS‘ ; 'A’_)--Expl_a_iti ETL 'ef-jdata warehousing in details? [10]
CAVB) _E_xp_lain'_types of attributes and data visualization for data exploration. [10]
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Q4 A) Illustrate the architecture of Data Warehouse system. leferentlat
and Data Mart

B) Explain K-Means clustering algorithm? Apply K-Means alggmhms Qrt
following Data set with two clusters. DL SVaT S )
Data Set = { 15,15,16,19,19,20,20,21,22,28,35,40,41 4243‘44 60§

S

Q5 A) Explain Updates to dimension tables in detail.

B) A database has ten transactions. Let minimum suppcrt 30% and mlmmum S 1\1] SEE
Confidence = 70% N T AN N 20
i] Find all frequent patterns using Apnorl Algorlthm-'--‘
ii] List strong association rules. .;‘x,\ LS

Transaction Id |Items: 53 \$ S L
01 ABOD S S o S S SNy
02 AB.CDEG |
03 1ACGHK.
04 < IBICDEK
05 PO S IDEERL A
06 oo ~JABGCD WA !
07 S8 Qe A BRERE S s
085S s[ABDEK <

09 NEa : -A E FH L y

Q6 Write short note on the followmg (Answer any FOUR) [20]

a) Major 1ssues m Data Mmmg
b) Metadata in: Data Warehouse
&) BP0
.."__‘f.a’):__"DBSCANI S

. -{ s

o le) errarchicaICIustermg
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T4528/T1794 B.E.(COMPUTER ENGG)(SEM VIII) ) (CBSGS) PARALLEL AND DISTRIBUTED SYSTEMS
: ! ) BSOS Q . Code: 16286

Yelociig!
Duration: 3 Hours | Total Marks -80]

N.B. (i) Q. No. I is compulsory
(i1) Attempt any three questions out of the remaining five questions

I (a) What are the common issues with which the designer of a heterogeneous 05
distributed system must deal?

(b) State and prove Amdahl’s Law to compute speedup of parallel computers. From 05
experiment it was verified that 70% of execution time was spent on parallel
execution. What is the maximum speedup that can be obtained with 16 processors?

(¢)  Explain the concept of Processing Element in SIMD architecture. 05

(d)  Explain stream oriented communication with an example. 05

2 (a) Discuss Raymond’s Tree based algorithm of token based distributed mutual 10
exclusion,
(b) How pipeline hazards are classified? Discuss data hazard in detail and list the 10
techniques used to eliminate data hazard.

3 (a) Discuss and differentiate various client-centric consistency models. 10
(b) Iustrate the paralle]l Algorithm for matrix multiplication and compare the 10
performance of this algorithm with sequential matrix multiplication algorithm,

4 (a) Describe code migration issues in detail, 1o
(b) What is a logic clock? Why are logic clocks required in distributed systems? How 10
does Lamport synchronize logical clocks? Which events are said to be concurrent
i Lamport timestamps.

5 (a) What is the requirement of Election algorithm in Distributed Systems? Describe 10
any one Election algorithm in detail with an example.

(b) Define a Remote Procedure Call, Explain the working of RPC in detail 10

6 (a) Describe File-Cashing schemes. 10

(b) Differentiate between Job scheduling and load balancing. Discuss the issues in 10
designing Load Balancing Algorithm,
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: (1) Question No. 1 is compulsory.
(2) Solve any three questions from remaining que"trons 2 tpkq es:ctqns 6

D e LTS NS
(3) Please specn‘y vou answers W|th neat sketch e%q‘mpies ng;elzever neceSs@ry

1. Answer any four questions from the foliowmg s
(a) Whatare the three categories of the users 2 How they canbeprvT@é¢W1tQT351]Ltles
to ensure feasibility in operataon ; &

20

(b)
(c)
(d)

(e) Provide brief information on Qualttatwe and Quantﬁ:atlve Research\

2. (a) Explain following with respect to Handie response Tqme S o] 12
(i) Progress Indicator SRR
(ii) Elapsed Time Message
(iii) Hourglass’ Painter. - e PN
(b) What are three 1eve|sof processmg and seven stages of Action ’-’ How theyareinterrelated 8
to each other ? :

P / ..ant to: estabhsn unmanned pertrol Pumps at major locations, 12
Wher’e Vehlcie;hw rs“lah_ﬁli the~ petrol on: thelr own and the payment will be either
byn cash!ess |n the form oi‘, Detut Card or Cred;t Card or at some points there may be
Bank the payment (Cash) by automatlc machmes Following are some functional
_reerements

- _There will be automatic gate' that WI” not allow owners to take their vehicles if they didn't
.make the payment. Provrde detarled system analysis and possible interaction design that

55 ) will help to execute the same for pe?‘troleum companies. Your design should also contain

Suithale dragrams

(b] Llst generai prmcmles of user mterface design, Explain any 4 in detail. 8

4 (a) What are dlfferent presentatlon styles of windows ? State advantages and disadvantages 10
~\ of each style of,.wmdow
< \(b) Prowde differen' dewce based and screen based control for following. 10
oy {|) Fﬂhng up Ontme Application for Admission to Engineering Course.
(||} Online’ payment of Utility Bills such as Telephone, Electricity and Water charges
etc ot
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5. (a) What do you mean by Persona ? menti

detail,

(b) Explain six behavioral patterns in

6. Write short note on any four

(a) Goal Directed Design

(b) Gestalt principles

(c) Menus

3321695B20842B155E053B1185CA7F96

(d) Feedback and Guidance

(e) Learning.



(3 Hours)

N.B.: (1) Question no. 1 is compulsory
(2) Attempt any three from the remaining.
(3) Assume suitable data.

I. (a) Whatis Big Data? What is Hadoop? How Big Data and Hddoop"lr“ lmkcd‘7

: ;";f, |

22 .f'J_\' /i 7

QP Code : 725401

- [ Total Marks :80

.5

(b) Explain Page Rank with Example. Cana Websne S Page rank Ever- Tncreasc’ What 5 S
are its chances of Decreasing? o & :

(¢) Explain Hubs and Authorities with neat dlagrdm 5 . ; 5

(d) With respect to data stream querying, give anmple of " 5

(a) One Time queries
(b) Continuous Queries
(c) Pre-defined queries
(d) Ad-hoc queries

2. (a) Explain Hadoop Ecosystem w1th core components, Explam 1ts Physmal architecture. 10
State Limitations of Hadoop. ' -
A
: :(b) Wlnl is MdpRcduce ? Fxp]am How Map and Reduce Work? What is Shufﬂmo in 10
MapReduw ? )
-(a) Forthe Gra'ph' givén Hélow use betweenness factor and find all communities, 10
(b) How would you getthe features of the document in a content -based system? Explain ~ §
$ . -~ document qlmllarlty
fabyl .-‘*-___I(c) What i lnangular matrix? How it is used for main memory counting? 5
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QP Code : 725401
2

4 (a) Explain Collaborative Filtering based recommendation System. How it is different 1 0
from content based recommendation systems ? [
(b) What are Combiners? When Should one use combiner in mapreduce job? : 5.

(¢) How to count distinct elements in a stream? ExplairL_E laj_oi_ebM_artj,n_Alg’i}_rfi__ihm.

5 (a) Givenal Dim Dataset {1,5.8,10,2} Use the agglommativc cluqtermg a]gouthm _:1"'0-- -
with Euclidean distance to establish hier arr:h_lcal groupmg relatlonshlp Draw the ;I'\'(_;f‘-"\.; '
dendrogram . v 3 : Jcsiiaa

(b) Consider a Portion of Web Graph Shown below 10
(a) Compute the hub dl’ld authorlty scores for all the nodes.
(b)' Doca thl% g1aph contdlns qpldertraps ? Dead ends? If so, which nodes?
10
10
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